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= o H 5H5H 5H6H 5HTH 5H8H 5H9H 5B10H 5B11H
BH A X K & & + A
1 #HbkE (HCL)IBE R KME (ppm) 12 10 13 19 10 11 11
Fi SXE{b (N0x) & AME (ppm) 134 129 126 132 132 128 130
B Smiemg (500 BAlE (opm) 5 5 5 6 6 6 5
—{kkE (C0) FAME (ppm) 8 9 11 7 8 17 6
ERAME (g/Nm3) 0 0 0 0 0 2 0
= B 5H5H 5H6H 5HTH 5H8H 5H9H 5B10H 5B11H
BH A X K & & + A
o [EEAE () BERAE (o) - — — 1 ; 5 5
Fi SZ{b (N0x) & AME (ppm) — — — 147 145 139 136
B =miiE (00 BoclE (oom) — — — 5 5 5 5
“E{LEE (C0) BAfE (oom) - — — 5 1 5 5
WERAME (g/Nm3) - — — 0 0 0 0
= o H 5H5H 5H6H 5HTH 5H8H 5H9H 5B10H 5B11H
BH A X K & & + A
3 [EALKE (HCL)IEEE & AME (ppm) — — — — — — —
= [Esmim (0x) BAE (o) — — — - - — —
B =miiE (00 BoclE (oom) — — — — - — —
“E{LEE (00) BAfE (oom) — — — - - — —
WERAME (g/Nm3) - - — — — — —




